SIN fiiggvény

A B c | b [ E | F
Radianban
1 | megadott szég | Sinus értéke
2 1 0,841470985[<— =SIN(A2) 1 radian szinusza
3
4 0] 0]<———— =SIN(A4) 0 radian szinusza
5
6 -1|  -0,841470985[<——— =SIN(A6) -1 radian szinusza
7
Fokban

8 | megadott sz6g | Sinus értéke
9 0,785398163 0,7 =SIN(A9) 45 fok szinusza
10
11 1,570796327| 1,0j<—— =SIN(A11) 90 fok szinusza
12
13 3,141592654] 0,0 =SIN(A13) 180 fok szinusza
14
15 4,712388980| -1,0{c——— =SIN(A15) 270 fok szinusza
16
17 6,283185307| 0,0J<—— =SIN(A17) 360 fok szinusza
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